APCSA
Examination IV

Answer the following fully and completely using nouns, verbs, and ly-words to elaborate your path to solution.

1. Use your e-Portfolio Calculator to determine what the minimum Sally could do to get a C for the semester.

	
	MidTerm
1st Quarter
	1st 
Quarter
	MidTerm
2nd Quarter
	2nd
Quarter

	Overarching Process
	4
	3
	1
	

	7 Systemic Parts of APCSA
	3
	0
	2
	

	Your Ability to Test
	1
	4
	2
	

	Science Fair
	2
	1
	3
	

	Journal
	3
	1
	3
	

	
	
	
	
	


2. Complete the Truth Table to verify.
                         !(!A && B) = A || !B


3. Convert the following:

    a) 222 Base 3 to Base 10
    b) 11011011110 Base 2 to Base 10

    c) 7707 Base 10 to Base 2
    d) 11011 Base 10 to Base 2

4. What is wrong with this program?

	import java.util.Scanner; 

public class test

{ 

    public static void main(String[] args) 

    { 

       Scanner in = new Scanner(System.in); 

       System.out.print("Input GPA number "); 

       double grade1 = in.nextDouble(); 

       String LETA = "Uh";

        if (grade1 < 1) LETA = "F";     

      
else if (grade1 < 2) LETA = "D";

       
else if (grade1 < 3) LETA = "C";

       
else if (grade1 < 4) LETA = "B";

       
else if (grade1 == 4) LETA = "A";

       
else if (grade1 <= 5) LETA = "A+";

       
else if (grade1 > 5) LETA = "1337";

       
else LETA = "YOU SHUCK";

       
System.out.println(LETA);

       }

}


5. What was the problem when sorting three numbers of the same value?

6. Explain this code segment.

	…

      Scanner in = new Scanner(System.in);



 

      System.out.print("*********************** ");

      double score = in.nextDouble();





 

      Grade quake = new Grade(score);

      System.out.println(quake.getDescription());

…


7. What’s wrong with this code segment?
	  double slope = (p2.getY() - p1.getY()) / (p2.getX() - p1.getX());


8. Describe one of the sorts in the Sorting Algorithms movie?
9. What is java.util.Scanner? What does it do?
10. How did Alex deal with the input of nonnumeric data?
11. To compare the contents of objects, you must use the  ___________________ method.

12. The ____________________ type has two values: true and false.

13.
You should use the ____________________ operator to test whether an object reference is a null reference.

14. The ____________________ reference indicates that a string variable refers to no string at all.

15. A conditional statement such as if( x >= 0 ) y = z; is called a(n) ____________________ statement.

16. 
A(n) ____ method returns a boolean value.

A)
predicate

B)
complex

C)
abstract

D)
equals
17. The statement y = x >= ? x : -x; is similar to ____.

A)
if ( x >= 0) y = x;  

B)
if ( x >= 0) y = x; else y = -x;

C)
if ( x >= 0) y = -x;

D)
if ( x >= 0) y = -x; else y = x;

18. Which of the following conditions would compile without error (assume the ... are replaced by valid statements)?

A)
if (x == 1 || 2) ...

B)
if (x = 1 || x= 2) ...

C)
if (x == 1 || x == 2) ...

D)
if (x = 1 || 2) ...

19. Boolean expressions are sometimes called ____, because they can have only two states: "up" and "down."

A)
flags

B)
short circuits

C)
instance variables

D)
lazy expressions

20. In Java, the ambiguous else is also called the ____________________ else.
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